INTERVALLI 1 OTTAVA

GIUSTA MAGGIORE MINORE ECCEDENTE DIMINUITA
1A

0 semitoni % Unisono

% 1/\
1 semitono

SE== 2
2 semitoni E A

% 2A
3  semitoni

S=== 31
4  semitoni % 3A
5 semitoni % 41

= :
6 semitoni

SET= 51
7 semitoni % SA

SET= 51
8 semitoni

% 6"
9 semitoni % (%

% 6"
10 semitoni

E== 77
11 semitoni E 7A
12 semitoni % 8A




INTERVALLI 2" OTTAVA

GIUSTA MAGGIORE MINORE ECCEDENTE DIMINUITA

12 semitoni % 8A
13 semitoni

% 9n
14 semitoni % 9A

SE= 9"
15 semitoni

== 101
16 semitoni % 10A
17 semitoni % 114

== 112
18 semitoni

T 12
19 semitoni % 12A

= 121
20 semitoni

SE= 12
21 semitoni % 137

SE= 12
22 semitoni )

SEE ”
23 semitoni % 14/
24 semitoni % len




